FHREUVBH LOKREZEOBER(THM2F4A1BIRAE)

TBUBERSR
) ) =11 AER B _E oD ER R
X5 |FHAEERBERICEETHIEELL LB
(N[ | B | (N)](N)] (%) | &
= 9
14K FEDRE 9 |[15.8%
i 9 %
¥= 3| 19 [33.4%| &
BEE 7 &
1 BEEOES
2% | 2 BEOMBXIIREBELELT HERE 10 [19.4%
TOEE DTS
i 10
EESS 7
& 5 =
1 FEDOBTE i | &
3k o REAEELTIEEEDBE 12 [21.1% 12 [21.1% ﬁ
5l 12
EESE 10 ]
3
4%k | BIEBH DS 10 |17.5% 10 [17.5%| ##
&
&
tl 10
BIEE 2
E3E 1
s |
1 BEOBKE Blek |3
5% | 2 £EEXIEETHOBHE 15 26.3%&;?%%% 1
3 BIREDBTE Al B
R 1 ]
BE 1 =
3E 3| 16 |28.1%| &
15 &
BiIEREER 1
6k BIEEROBE 1 |1.8%
i 1
S5t 57




